
Math 4. Handout  #17  Ratio 

 

Homework # 15 review 

 

A farmer has a cow, a goat and a goose. The cow and the goat will eat all the grass on his 

meadow in 45 days, the cow and the goose will eat all the grass on the same meadow in 60 days, 

and the goat and the goose will eat all the grass on the meadow in 90 days. How many days will 

it take them altogether to eat all the grass on the meadow? (we assume that the new grass is not 

growing.) 

First, we need to find out how much grass these pairs of animals will eat per each hour.  

1

45
+

1

60
+

1

90
=

4 + 3 + 2

180
=

9

180
=

1

20
      

By adding these numbers we are counting the fraction of the grass eaten in one hour 

 (but each animals contribution is counted twice) 𝑠𝑜 𝑤𝑒 ℎ𝑎𝑣𝑒 𝑡𝑜 𝑑𝑖𝑣𝑖𝑑𝑒 𝑡ℎ𝑒 𝑟𝑒𝑠𝑢𝑙𝑡 𝑏𝑦 2 

1

20
: 2 =

1

20
𝑥

1

2
=

1

40
 

40 days 

 

How we multiply decimals? 

 

• Alight the numbers normally (Do not align decimal 

points) 

• Multiply, ignoring decimal points 

• Add the products.  

• Count how many numbers in total you have after 

decimal point 

• Use that number for putting the decimal point on 

your product 

 



Ratio  

A ratio describes a proportional relationship 

We use ratios to make comparisons between two things. When we express ratios in words, we 

use the word "to"--we say "the ratio of something to something else." A ratio says how much of 

one thing there is compared to another thing. 

 

Example #1: 

 

 

Example #2: 

 In a fourth grade, there are 80 boys and 100 girls. The ratio of boys to girls is 80 to 100. We can 

use equivalent fractions to show that 
80

100
=

4

5
.     So the ratio of boys to girls is 4 to 5. 

We also can say that the  number of boys is 
4

5
 of the number of girls  (

4

5
𝑥80 = 100),  the number 

of boys (80) contains the number of girls (100) 
4

5
  times.  

When we compare things using the division we also use the word ratio.  

 

 

We can write the ratio of two numbers in the several ways: 

𝑎 𝑡𝑜 𝑏, 𝑎: 𝑏,
𝑎

𝑏
 



Example: To make pancakes we use 3 cups of flour and 2 cups of milk (there are other 

ingredients too). 

So the ratio of flour to milk is 3 : 2, which means that for each 2 cups of milk we need to have 3 

cups of flour. To make pancakes for a LOT of people we might need 4 times the quantity, so we 

multiply the numbers by 4: 

(3 ∙ 4) : (2 ∙ 4) =  12 ∶  8             (
3∙4

2∙4
=

12

8
)      12 cups of flour and 8 cups of milk 

Percent 

One percent (1%) means 1 per 100. 

 

Finding 10% of a number is dividing this number by 10.    

Different problem: 

• 40% of what number is 12?      40% ·  𝑥 = 12        

  
40

100
∙  𝑥 = 12           12: 

40

100
= 𝑥            12 ·

100

40
=30 

 

• What percent of 48 is 12?        

 𝑋% 𝑥 48 = 12          𝑥 =
12

48
 . Simplify this fraction and you will get  

1

4
 

We have to create a fraction equivalent to 
1

4
 , but with denominator 100 to find how 

many percent. 

1 percent of quantity is a 
1

100
 th part of it. 

 



1

4
=

1𝑥25

4𝑥25
=

25

100
          The answer is 12 is 25% of 48.         

Alternative solution: You can write x% as  
𝑥

100
 

 
𝑥

100
 ·  48 = 12        To solve this equation  

12

48
=   

𝑥

100
 , then cross multiply: 

12·100=48x 

x=1200:48=25 

 


